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You interview a random sample of 50 aduls. The resus of the survey show that 42% of the adults said they were more ikely to buy a product
wihen there are free samples. At = 0.005, can you reject the claim that at least 55% of the aduts are more likely to buy a product when there
are free samples?

Hy: p=055 ¥D. Hyp=055
H, p=055 H, p<055
Determine the critcal values)

The criical value(s) isfare =258
(Round to two decimal piaces as needed. Use a comma o separale answers as needed.)

Find the 2-est statistic.

2= -185
(Round to two decima places as needed )

Wnat s the result of the test?

A. Failto reject Hy, The data provide sufficent evidence to reject the claim
B. Reject Hy. The data provide suficient evidence to refect the claim
c
0.

. Reject Hy. The data do not provide suficient evidence to reject the claim.
. Fal o reject Ky, The data do not provide suficient evidence to reject the claim.
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The budget (i millons of dollars) and wioridvide ross (in millons of dollars)for eight moves are shown below. Complete pars (2) through (c).
Budgel. 207

203 108 198 81 76
Gross.y. 588 375 79 764 701 23

176 168 |o
257 425

(a) Display the data in a scatter plot. Choose the correct graph below.

&

Bt

5 f
T 2k T 2
Buseer Busger
(b) Calculate the correlation cosficient

406 (Round to three decimal places as needed.)

(c) Make a conclusion about the type of correlation.

The correlation is a

v] iinear correfation.
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(a) Display the data in a scatter plot. Choose the correct graph below.

v

Bt
Guss

T 2
Busger

(b) Calculate the correlation cosficient

0.862 (Round to three decimal places as needed.)

(c) Make a conclusion about the type of correlation.

The correlation is a vl

linear corelation,

P

s

1004

Busger

s
T 2k

Bt

“The budget (in milions of dollars) and wordwide gross (in millions of dollars) for eight movies are shovin below, Complete parts (a) through (c).
Budgel x 207 205 201 799 180 74 174 168
Gross.y. 1280 1884 008 724 621 420 3% 266
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For the followiing data (a) display the data in a scatter plot, (b) calculate the sample correlation coefficient r, and (c) make a conclusion about the type
Use technology

The alttudes (in thousands of feet) and speeds of sound (in feet per second) at these altitudes are shown in the data set below.

[ Click the icon to view the data set.

%
i 7 e T g =
& sl < & <
i S Sio i Sig i
At (10005 %) Speed ot soun (1) At (10005 %) Speed ot soun (1)

(b) Calculate the sample correlation coefficient r.

(Round to three decimal places as needed )
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Alttude, xSpeed of sound,y

Print
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‘The weights (in pounds) of 6 vehicles and the variabity of their braking distances (in feet) when stopping on a dry surface are shown in the.
table. Can you conclude that there i a significant linar correlation between vehicle weight and variabilty i braking distance on a dry surface?
Use a=0.01.

[Weight 5990 [ 5390 | 6500 [ 5100 | 5870 | 4800 |

[Variabilty i brafing
lintanea.y 173 | 194 | 189 | 150 | 163 | 150

B Gick here 1o view a table of crfical values for Student' Ldistrbution.

Setup the hypotnesis for he test

Hyp = 0
Hip £ 0

Identiy the crcal value(s). Select the correct choice below and fil in any answer boxes within your choice.
(Round to tree decimal places as needed )

A “Tne ctcl values are ~t, =[] andty =
O B. The cicalvaue s
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“The number of hours 10 students spent studying for a test and their scores on that test are shown in the table. Is there enough evidence to
concluds that there s a significant inear correlation between the data? Use =005

Hours, x. 0124455 [6][7]¢&]
Testscore y | 36 | 43 | 50 | 49 | 65 | be | 73 | 79 | &1 | 92

B Gick here 1o view a table of crfical values for Student’ tdistrbution.

‘Setup the hypothesis for the test
Hoip = 0
Hip #0

Identiy the crcal value(s). Select the correct choice below and fil in any answer boxes within your choice.
(Round to tree decimal places as needed )

O A Te criical value is

B. The crtcalvaues are ~t, = | and




image14.png
Score: 007 1pt 4 19012920 complete) W b HW Score: 41.79%, 13.37 of 32 pts

9.1.35 B Assigned M 338 Question Help &b
Calculate the correlation coeficient . letting Row 1 represent the x-values and Row 2 the y-values. Then calculate it again, letting Row 2
represent the x-values and Row 1 the y-values. What effect does svitching the varizbles have on r2
Row 1 15 2 0 50 5 ) FE
Row? EEE) 143 EiE] 750 164 178 136

Calculate the corrlation coefficient letting Row 1 represent the »-values and Row 2 the y-values

~0.038 (Round to three decimal places as needed.)

Calculate the corrlation coefficient letting Row 2 represent the »-values and Row 1 the y-values

[T (Round to three decimal piaces as needed.)




image15.png
4 22012921 complete) W b HW Score: 42.83%, 13.71 of 32 pts

D Assigned Media 38 Question Help £}

Find the equation of the regression fine for the given data. Then construct a scatter plot of the data and draw the regression lin. (The pair of
variables have a significant correlation.) Then use the regression equation to predict the value of y for each of the given x-values, if meaningul.
“The table below shows the heights (in feet) and the number of stories of six notable buidings in a cty.

[Feight x 774 625 | 521 [ 508 [ 497 [ 477 | (a) %=501 feet (b) x=645feet

[Stories. v 511 47 [ 52 | 25 | 38|35 ()x=310feet

Find the regression equation

0058~ (788)
(Round the slope to three decimal places as needed. Round the y-intercept to two decimal places as needed.)

Choose the correct graph below:

Q

Stores
Stores
Stores
Stores

of
L]
Heigt ee)
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The accompanying data are the length (in centimeters) and giths (in centimeters) of 12 harbor seals. Find the equation of the regression line. Then construct a scatter
plot of the data and draw the regression line. Then use the regression equation to predict the value of y for each of the given x-values, if meaningful. If the x-value is not
meaningful to predict the value of y. explain why not.

@x=140cm  (x=172em  ()x=164cm  (d)x=158cm
[ Click the icon to view the table of lengths and girths

The equation of the regression fine s = [ Jx+
(Round to two decimal places as needed.]
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Lengthx  Girth.y

137 105
168 130
153 15
144 106
158 126
158 120
124 103
138 104
154 21
149 110
147 108

145 110
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‘Complete parts (2) through (¢) using the following ata

Row 1 1 3 3 3 5 5 5 5 5 7 o
Row2 51 £ E3 72 %0 70 72 &7 62 5

the correct graph below.

* X
Q . Q - Q

(b) Find the equation of the regression line or the given data, lsting Row 2 represent the x-values and Row 1 the y-values. Skeich a scater
plot ofthe data and draw the regression fine.

Input the values of the siope and intercept for the regression line wihen Row 2 represents the x-values.

§eChe
(Round to three decimal places as needed )
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Use the data n the table beiow to complete parts (a) through (d).

= E3 a0 % 7] £ 61 55 N
2 2 24 E 27 2 2 24 2

8 Cick th icon to view detals on how o constructand interpet residualplots

(@) Fina e equanon orm regression e
§= 0.193x+ (16.615)
(Round to three decimal places as needed )

(b) Consiruct a scatter plot ofthe data and draw the regression line. Plot the x-values on the horizontal axis and the y-values on the vertical
s, Choose the correct graph below.

B.
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Use the data n the table below to complete parts (a) through (c).
5 9 g EE) 8 8 7]
30 % 2 23 2 71 10

3
27

&) Cickine icon o view the stops for fning niuential pos,

(a) Consruct a scatterplot of the data. Choose the correct graph below.

(b) Identity any possible outiers.

me oy

“There are no outiers.

Click to select your answer and then click Check Answer.

1 Bt aiving
Fonaining

‘The point (42,10) may be an outier.
‘The point (6,30) may be an outier
‘The point (4,27) may be an outier
‘The point (19,21) may be an outier.
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Use the data n the table below to complete pats (a) through (c).

3 5 ] ] 5 e 19
27 D 2 2 P 2 21

&) Cickihe con o viewthe steps T fning nfuenta pis

L@ B A :

Bl
T

% Sory, that's not correct. XErs

An outier s a data entry that is far removed from the other entres in the data set
(o) Identity any possivle.

‘The point (42,10)
“The point (6,30) m
‘The point (4.27) m:

‘The point (19,21) may be an outier.
“There are no outlers.

me oD
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Decide whether the normal samplig distiouton can be used. It can be used, tes the caim about the population proportion p atthe given level of significance a using the given sample

satitics.
Ciaim: p<0.14; a=0.05; Sample satistcs: p=0.12,n=25

Canthe nommal sampling distrioution be used?

¥ A No, because np s less than 5

Yes, because both np and n are greater than or equal to 5.
No, because ng i less than 5.
Yes, because pq s greater than a=0.05.

‘State the null and aiterative hypothesss. Choose the correct answver below.

O A Hyp=014
Hyp<0.14
OB Hyp=014
Hyp=0.14
OC Hyp=0.14
Hp2014

D. The test cannot be performed.
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Decide whether the normal sampling distriution can be used. It can be used. est the claim about the population proportion p atthe given level of
significance  using the given sample statistics.

Claim: p#0.29; a=0.01; Sample staistcs: p =0.26,n= 100

No, because np is less than 5.
Yes, because pais greater than a=0.01

¥ . Yes, because both np and ng are greater than or equal to 5.
No, because ng i less than 5.

‘State the null and alterative hypotheses.

A Hypz029
H,p<029

. Hyp=029
Hyp2029

O C. Hyp=029
Hyp=029

. The test cannot be performed.
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A research center claims that at least 44% of adults in a certain country tink the government is not aggressive enough in pursuing people wno
cheat on their taxes. n  random sample of 700 adults from that country, 37% say that the govemment is not aggressive enough in pursuing people
who cheat on theirtaxes. Ata=0.01, i there enough evidence to reject the center's claim? Complste parts (a) through (e) belov.
Exactly 37% of al adults tink the government is not aggressive enough in pursuing people who chet on their taxes
Exactly 37% of adults in the country think the government is not aggressive enough in pursuing people who cheat on thei taxes.
‘Atleast 4% of all aduts tink the government s not aggressive enough in pursuing people who cheat on their taxes.
0. Atleast 44% of aduls in the country think the govermentis ot aggressive enough in pursuing people who cheat on their axes.

dentiy Hy and H,
Hyp = 44

Hop < 44
(Type integers or decimals )

(b) Find the crtical value(s) and identity the rejection region(s).

The critcal value(s)isare 2, =[]
(Round to two decimal piaces as needed. Use a comma o separale answers as needed.)
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(@) Wite the ciaim mathematically and identy H and H, . (b) Find the crtcal value(s) and identity the rejection region(s). c) Find the
standardized test statistic. (d) Decide whether to relect orfalto reject the null hypothesis
In a sample of 1000 home buyers, you ind that 419 home buyers found their real estate agent through a riend. At a=0.08, can you reject the

claim that 42% of nome buyers find thei real estate agent through a friend?

JAR

EX] S
(€) What s the standardized test statistc?

2= .06

(Round to two decimal places as needed )

(@) Which of the folowing is the correct conclusion for the test?

©) A Failto reject H,. There is enough evidence to reject the.

claim that 42% of buyers find their real estate agent through
afiend,

©) . Reject Hy. There is enough evidence to reject the claim that ©) D.

42% of buyers find their real estate agent through a fiend.

. Fail o reject Hy. There is not enough evidence to reject the.

claim that 42% of buyers find their real estate agent through
afiend,
Reject Hy. There is not enough evidence to feject the claim

that 42% of buyers find their real estate agent through a
rieno.
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(@) Wite the ciaim mathematically and identy H and H, . (b) Find the crtcal value(s) and identity the rejection region(s). c) Find the
standardized test statistic. (d) Decide whether to relect or fal to reject the null hypothesis

An environmental agency fecenty ciaimed more than 29% of consumers have stopped buying a certain product because of environmental
concerns. In a random sample of 1060 consumers, you find 35% have stopped buying the product. At a=0.03, d0 you have enough evidencs
o support the claim?

EX] T
(€) What s the standardized test statistc?

2=431
(Round to two decimal places as needed )

(@) Which of the folowing is the correct conclusion for the test?

Fail o reject Hy. There s not enough evicence o support the claim.
Reject H. There is enough evidence to support the claim.

Reject Hq. There is not enough evidence to supportthe ciaim.

Fail o reject Hy. There s enough evidence o support the claim

°0® >





